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Those variables that the model tries to explain are known as:

(a) Exogenous variables (b) Endogenous variables .
() Simple variables (d) none of the above .
@U%ﬁﬁﬁfé&mﬁmﬁwmé&ﬁmmﬁ,m@%aﬁ? '
(a) =TIH I (b) wiegatgd
(c) AUTs Bd @ Busas At &t
Who amongst the following was NOT the winner of Nobel Prize in Macro Economics ?
(@) Milton Friedman (b) James Tobin
(c) Robert Lucas (d) W.Phillips
W%Wﬁ%mmw~wﬁemwﬁﬁ?ﬁﬁ?
(a) froses ishs () nr 2fem

(c) dTHIC TIH (@) =afeg. fefeu
GDP deflator is: .
(a) Nominal GDP/Real GDP (b) Real GDP/Nominal GDP
(c) Nominal GDP — Real GDP (@ Real GDP — Nominal GDP
GDP w28 =& J
(a) wFafex GDP/FRS GDP  (b) S GDP/AEfeR GDP
(c) FHEfed GDP - A% GDP (d wFS GDP - Frafed GDP

If an Indian resident owns an apartment in New York, the rental income he earns is a part
of:

(a) United States GDP (b) Indian GDP

(¢) United States GNP (d) Indian GNP

Sy g st TR o f5Aues 8 nugene J, grg fims Tt fage & »mies
(a) PHJST GDP & - (b) IS GDP T

(c) Mt GNP & (d) F9T GNP T

- National Income is:
(a) GDP- Indirect Business Taxes (b) NNP- Depreciation
(c) NNP- Indirect Business Taxes (d) GNP- Indirect Business Taxes
TR niHES 3

(a) GDP-mBYRUIad - (b) NNP- HS wer

() NNP- 3y TUJ 3 (d) ONP- »y3y TUT 39

In national income accounts, ‘consumption of fixed capital’ is commonly known as:
(a) Consumption of goods (b) Fixed capital

(c) Depreciation (d) Proprietots income

IHEdt ninies &9 A U & Gusar i 39 '3 Fo@er

(a) * TP T QuId ) AEeys

(c) H&we (d) HER & niHEs
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10.

11.

- Paper-H (Economics) 3 . _r’

If the nominal interest rate is 8 percent and inflation rate is 2 pefcent, then the real interest
rate is: :

(a) 2 percent ' (b) 4 percent

{c) 6 percent (d) 16 percent
ﬁaamarf%aﬁsmmeasqélﬂa%m%mamﬁﬁeaz Y3H3 3, o9 nins fonrg w9 Y
@ 2ySims (b) 4y

(© 6ystms (d 16 yZiws

The accelerator assumes

(a) Constant MEC

(b) Constant multiplier |

(c) Constant relationship between net investment and the rate of change of output
(d) Constant relationship between saving and investment

3T TBUBT FIET o -

(a) Afag MEC

(b) AfEg gia

(c) Huﬁséﬂméeaméruﬁmeaﬁaﬂfaam
(d) 93 n2 fan < Afbg gy | L

An Qufward shift in Marginal Efficiency of capital

(2) Increase aggregate demand (b) Decrease aggregate demand
() Decrease consumption (d) Increase consumption
Udt & Fini3 @3ureasT i aagere ufseass
(a) B Ha g e () o5 Ha &g ot
(c) . Suzar &g et () CSuEafgeg
If an increase in investment leads to increase in national income, it is called:
(a) Accelerator (b) Multiplier
(¢) Monetarism (d) Aggregated Demand
ﬁaaﬁéﬂﬁeer&mmﬁmﬁgw&wﬁ, fog Fo@er J:
(@) 3<% - (b) I
() Fedlass @ dsHa
An increase in money supply in IS-LM model:
(a) Shifts LM curve downward (b) Increases income
-{¢) Reduces interest rate (d) all of the above
IS-LM H'335 139 weer & yast g e o
(a) LM 39§ I ¥ ufeegsz ager D e
(b) »HEs TUer Y '

(¢ Tenmi w9 § we@er d

d) Budas I




12.

13.

14.

15.

16.

Decrease in taxes in [S-LM model
(a) Shift IS curve fo the right
(b) Decrease in income
(c) Decreases interest rate
(d) All oftheabove
IS-LM Hi35 g wat Re ot
@) 1S 333 § MR 95 ufaeess x5t 3
(b) nmEs ¥ o aedt 3
(© forrm =q o9 it F@t I
(d) BuIF3 AT '

Which of the following is true with ‘Fiscal expansion’:

(a) Increase in taxes )

(b) Increase in government purchases
(c) Shift aggregate demand to left

(d) Shift IS curve to left

Fa5t fammra’ B Jot Rifanit T faom Ft 3¢

(@ FRgIT
(b) - FIE ydteedte &8 T

(©) s_faﬁaé&ﬁwﬁe“wufaeaaaaaéf%

@ 18 T g ¥ I ufgeess T 9

Who amongst the following is NOT a new-classical economist ?

‘Output gap’ measures '
(@) Actual Output — Consumption (b)
(c) Potential Output — Actual Output (d)

83yres Wiz’ WU J
() =wsfex §3ures - Gusa (b)
(¢) FI=383uTs - TRl B3 (9)

~ (a) Robert Lucas : (b) ~ Robert Barro
(c) Milton Friedman (d) Edward Prescott
3ot ffan 5 foramr a2 yduareret wdgaRAsdt &t 97
(a) I99¢BIA ‘ ‘(b) Tade 9
) fiecsdshs (@ "eees Jree

Actual Output — Investment
Potential Qutput — Investment

TAsfea G3ues - 5w
Hare3 §3ues - {53

Phillips curve descﬁb&s the relationship between
(a) Real growth and change in unemployment rate
(b) Rate of inflation and rate of unemployment

(¢) - Rate of inflation and rate of employment

(d) Wages and real growth rate :
fefsy a9 foust feod Ada @

(a) * iR feam ni3 Agwardt w9 9 ufeeass

(®) yeaméété’ream%égﬂwa‘}érea
(©) HTIREET T 9 »f3 gHard & €9
(d) HES w3 niFs fem
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17.  Interaction of goods and assets markets joiﬁtly determine

(a) Interest rate and income (b) Interest rate and employment rate
(¢) Interest rate and investment (d) Investment and consumption
THFot vi3 At Bt B yameg yse fsouras oo 3
(@) fonra 29 3 nies (b) fenra o9 w3 Jomardt S =g
(© fora g n fis2g (& 531 o2 Qugar :
18. If the actual unemployment rate is below the natural rate of unemployment, it would lead
to

(a)  Phillips curve would shift to the left

(b) Rate of inflation would increase

(c¢) Natural rate of unemployment would fall ‘

(d) Wages would fall '
ﬁaaﬁgﬂaﬁrérm&aeaﬁgﬂaﬁréraarﬁaea?ufei fer &%
(@) ffdu=oa 98 uh 33 ufgegss Fogt -

(b) HEIRSST  ©9 TOeR '

(c) Fgwart & pIER 9 wRHR

@) HEdt wat

19.  An increase in money supply would lead to
(a)  Interest rate to fall, investment to rise and aggregate demand to rise
(b) Interest rate to fall, investment to fall and aggregate demand to fall
(c) Interest rate to rise, investment to rise and aggregate demand to rise
(d) Interest rate to rise, investment to fall and aggregate demand to fall
HeT yast <9 @ur gagr |
@ ﬁmmeaﬁaaﬁﬁsénﬁgwmégamﬁaw
(b) ﬁwneaﬁaaﬁﬁ@nﬁamﬂnégﬁmﬁamﬁ
(c) %wﬁeaﬁaw,%%nﬁawn@gsﬁmﬁaw
(@) fons o9 f¥g =, foem ffe ot v a5 91 o =t

20. - The tough in business cycle occurs when
(a) Inflation is lowest
(b) Lowest money supply
(¢} Aggregated economic activity is lowest
(d Unemployment is lowest '
T 99 199 HAgSt oSt Y we ,
(@) HeTRES fsGazn 3 (b)) o83 yeTr yIH
© ¥&noEd fxfor falsznd (g) Sgvardt f&Q@a3H §

21. In the long run, increase in productivity would cause output to___ and aggregate price

levelto

(d) fall, fall (b) fall, rise

(c) rise, fall ‘ (d) rise, rise :

diow I3 &g, @mﬁaw@mﬁa_m@%ﬁuﬁﬁaqaﬁmﬁ
@ @i, 2t | (b) =, =

(c) =g, et d) =z, s
Paper-1I (Economics) _ - . §




22.

23.

24.

25‘

26.

27.

Stagflation occurs when
(a) Price level increases and real GDP decreases -
(b) Price level decreases and real GDP increases : R
(c) Price level and real GDP decreases simultaneously :
(d) Price level and real GDP increases simultaneously

1% 80 3 I A
(a) a‘hﬁﬁuaé‘u?%n@nmcnpu‘rw%
(b hiz g dizer 3 w3 »RS GDP F0e' 9
©) g Ufog w3 wiRs GDP 8 AY wee 76
(d) Sh3 UTg »i W% GDP 8 AN JUX I8

. In the long run, a reduction in labour supply could cause output to ___ and aggregated
priceleadto
(a) rise, rise ' (b) fall,rise
(c) fall, fall (d) rise, fall ,
@wmﬁgmgﬂﬁamﬂewfﬁ n{%@*ﬁéhﬁf‘ea___naér%
(a) =TT, U (b) wrer, ¥ :
(¢) W, ueT | (d) =, urer
Keynesian aggregate supply curve takes which of the following shape ?
(a) Vertical (b) Horizontal '
() Both(a)and (b) (d) None of the above
am'qagaﬁaaaﬁa*ﬁfanﬁﬁﬁmmmﬁvﬁ ?
(a) w3 (b) &=
© TWEMO @) Gu¥3 o &t
Money is neutral when the change in the money stock lead to change in
(a) Output ‘ (b) Pricelevel o
(¢) Employment . (d) Interestrate
wmﬁﬁﬁmmﬁgm;ﬁﬂﬁamw% :
@ Bzues (b) IHSUTS |
(c) Trard (@ formEs

The combination of wage-push by workers and govcrmhent commitment to high
employment lead to: '

(a) Demand-pull inflation (b) Cost-push inflation

() Supply-side inflation (d) Supply-pull inflation
W@mé%mémwnﬂgﬁﬁwaﬁﬁmmﬁ :
(@) Ya-fifg yeaweEt (b) TIR-UL HETHEIS

() yIft-U yETHSST @ yISt-fae HegFEESt

Who amongst the following is regarded as the *father of macroeconomics ?
(a) Adam Smith (b) J.MKeynes -

(¢) N.G.Mankiw : (d) Schumpeter

Tt fefant &5 far & “AHE nigaEFSs o fsrfa A Y 7

(a) vaH AfE | (b) . AH. AEH

(©) W, . Refae Cd wdee
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- 28.

29,

30.

31.

32.

The reduction in investment with expansionary fiscal policy is known as

(@) Cyclical investment (b) Crowding out

(¢)  Structural change (d) Deflation

fenfys wott 8t &7 fodm g ot 0@ 3 :

(8) Tt fs2y (b) =99 d 7ar

(c) TGS gEmmy (d) nRSIST

Cost-push inflation is due to _

(a) exogenous event - (b) shocks to aggregate demand

(¢) shocks to aggregate supply (d) none of the above
SEE-Uer HEaT AR fen args gt '

(a8) Irodt wextet ) & ¥a g s
(© % ysFtd sea @ @uﬁaga“rs}mﬂ-
Disinflation is

(a) Decrease in overall level of prices

(b) Income after indirect taxes :

(c)  Reduction in the rate at which prices are rising

(d) Reduction in GDP deflator

HET™ miFgtst 3

(8) AHY &M Uuq g ot (b)) Y3y T I I nmes

(c) o3t e = & vy f¥g wrer (d) GDPuca R st

Which of the following is not a feature of demand for factors of production as compared to

commodities ? :

(a) Itisderived demand.

(b) Itis governed by marginal utility of the factor,

() Itis joint or combined demand. _

(d) Elasticity of demand for a factor of production will depend upon proportion of the
cost of the factor to the total cost of production, '

35" fefonit 45 foraer eHgnt 2 vamed Gxures @ At st i & fefimr w0 3

() feofSxisdad

(b) 2T 33 A3 QutiarsT o Fotdzfs ot it

(c) feoaAzta Agaz o d

) Qmm%mm#mﬁmaewﬁwm?mm@m@w
o999 34t |

Choose the inappropriate assumption of the marginal productivity theory :
(a) Perfect competition in market for comiodities and factors of production.
(b) Homogeneous factors of production.
(c) Employer attempts to maximise sales and not profits, '
(d) No factor unit is prepared to work at less than market remuneration.
=g o

MRS Ha3T &

N -

" (a) %ﬂgaﬁwn@mw%mféﬂmm

(b) §3ues T Mgy ATs )
(c) @w&aﬁémﬁmm%mm%afam
(d) '&ﬁm%a@mﬁm%?ﬂz‘%a’um’faa@r% |

Paper-11 (Economics) 7 . ‘ A



33. Value of marginal physical product is defined as:
(a) Marginal revenue product multiplied by price.
(b) Marginal physical product multiplied by price
(¢) Marginal physical product divided by price.

' (d) Marginal revenue product divided by price.

i3 3f3a G3ure T e ufesris &tz /e 3
(a) HHZ vmHEs 83U I AH3
(b) FiH3 3f3F ue9E I CInES
(c) F3 3f3x uTsE g AH3
(d FHZ nnEs G3ure I H3t

34. Demand for labour depends on
(a) Marginal revenue product of labour
(b) Average product of labour
(c) Cost of labour
(@) Marginal price of product
Hegdt St Viar fogge Seet O
(a) HEST ¥ AHTS ninEs 83U ‘3
(b) Wt ¥ HiEs @3urE °3
(c) Hrgdt @ EES ‘3
(@ Gzue & Az a3 ‘3

35. Exploitation of labour is said to arise when

(a) Wage=MRP (b) Wage <MRP

(c) Wage>MRP : (d MRP=0

firaz o ARE 83U JTr I A

(a) HAESt = MRP (b) et <MRP

() wagdl > MRP (d MRP=0
36. Slope of PPC drawn in case of two goods is equal to

(a) MRSxy , (b MRPTxy

(c) MRTSx,y (d) none of these

%eﬂgn#%ﬁﬁuﬁaaeré’rméw?cé}mm%

(@ MRSxy : (b) MRPTxy _

(©) MRTSxy ' (@) feost &9 28 &3
37.  World Economic Outlook is released by whom

(a) World bank (b) IMF

() WTO (d) BRICS

(a) femeax (b) IMF

~(¢) WTO (@ BRICS

Paper-11 (Economics) 8
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38. What is the broad theme of Economic survey 2014-15 2
(@) Creating employment and reducing poverty
(b) Inclusive growth with sustainable development
(¢) Creating opportunity and reducing vulnerability
(d) None of these
WS ATUE 2014-15 & fenfys fem eng ot 3 7
(@) Ty & G3ust oo w3 et werBe
(b) {5333 feam &% Akl yardt
(c) 1R Uer q9o7 w3 paumaT g uergar
(d) feost &9 dst st
Make in India;
(a)  Not by protecting but by Eliminate Negative Protectionism
(b) Not by protecting but by Eliminate Positive Protectionism
(c) By protecting but not by Eliminate Negative Protectionism
(d) None of these
Ha fes st |
(@ amﬂmwwgﬁz@ﬁamgmaaa
(b) FIfmr o 5t US3 TETIHE I 3 U3H Ja9Q
(©) B g UG foeva Bafioe 3 u3H & I3q

39.

40. What is the percentage share of States in Central divisible pool recommendation by
14" finance commission ?
(a 425 by 325
(c) 42 d 41
14%%3%@%@%3‘?#%%%%%&#@%%&%
(a) 425 (b) 325
c) 42 (d) 41
41.  Horizontal devolution formula of 14™ finance commission:
- | Variable | Population |Population] Fiscal Capacity/ | Area |Forest| Fiscal
(1971) (2011) Income distance cover | discipline
Weights [ 17.5 10 - 15| 75 -
accorded
(a) 50,0 (b) 0,50
(©) 2426 (d) 26.5,23.5
142" 3 niar & Horizontal devolution Ty J: -
99 | weRfaer | aeAtor [ oR msey | | Ugaes)] dom | o F s
(1971) (2011) nHes &g nigts
- JIgr
3 @@ 175 10 - 15 | 75 ~
%2- .
(@ 50,0 () 0,50
(c) 24,26 (d) 26.5,23.5
Paper-I1 (Economics) 9




42.

43.

44.

45.

46.

Which is the first Indian Agricultural Product to be accorded by Geographical Indication
(GI)? _
(a) Kerala’s Chengalikodan Banana (b) Darjecling’s Tea

BTN

(c) Kerala’s Coconuts (d) West Bengal’s jute
gﬁ‘rf&anm(m)mmaummaﬁemma ?
(@) 3T T JABATE B (b) TR T T

(c) oI T EIMS (@ U Fars & uers
Which country will chair the 2016-BRICS summit?

(a) China . ' (») Russia

(c) India : (@) South-Africa
2016-BRICS FHat & yaadtt foasr 2F &9ar

@ - ® T

(¢) T3 @) T nieder

To commemorate the International day of Yoga, the Reserve Bank of India (RBI) recently
announced to issue coins of which denominations ? - :

(@) %2 B ) 25

() %10 @d T125 |
mmmmm,mw%%ﬁmﬁnw-ﬁa%ﬁaﬁ
 F95 T WEE st 37 S

@ 2FR' : ®) 5TuE

(¢) 103qu® (@) 125 quB

Which scheme of Government of India (GOI) has been recognized by the Guinness Book
of World Records recently ? ' '

(a) Direct benefit transfer of LPG

(b) Pradhan Mantri Jan Dhan Yojna

(c) Atal Mission for Rejuvenation and Urban Transformation

(d) Pradhan Mantri Awas Yojna -
mﬂ%mméf%mﬁnﬁwéﬁﬂaﬁammﬁw&%mﬁwﬁ
J

(@ LPG &y &g sacidl

(b) YOS H3I AG B LT

(©) ofemr T w3 iad Juises BEt nes fHre

(@) yas H3d neR GRaT |

Which of the following is not correctly matched ?

(a) Silverrevolution : Eggs (b) Grey revolution : Fertilizers
(c) Golden revolution : Gold (d) Brown revolution : Masaaley
Jot f¥fantt f29 fom = A e ot ger 9

(a) gt i3 . ® AT st uet

(c) Fofadt g : Rer @ FHFE B
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47. Who is the author of this book ‘Planned Economy for India’ ?
- {(a) Pt Jawaharlal Nehru (b)) M.NRoy
(©) M. Visvesyaryya (d)  None of these
“Planned Economy for India UASs & &ug &z 3 :
(a) Ufs3 7erg9 o fig (b) M. N, I
 (©) M. feremedinr (d) fegst 39 et &t
48. The transformation curve is derived from the '
(@)  Utility possibility curve (b) Consumption curve
(¢} Production contract curve (d) Social welfare
U39 59 T3t widt B -
(a) QuoiaET Az=s ¥gg T b)) GuSaIFT T
(c) B3uws Agus @9 3 (d) RHWE IfEHE 3
49. In case of ‘Giffen goods’ a fall in price will lead to
(a) Increase in demand | (b) Decrease in demand
(©) No change in demand (d) None of these
faies uerwt 2 iy &g, oz g figree oat
(@ Hafsgeg (b) ¥ e it
(¢) Har T 3t ufgeass st ) feost fed Gt &t
50.  Revealed preference theory is based on -
(a) Weak axiom (b) Strong axiom
(c) Both (a) and (b) (d) Noneofthese
ydie 3o+td & ez mug= )
(@) THAT JFus ‘Y : (b) HIE3 FES ‘3
(¢) <©F (a) M3 (b) (@) foost &9 a8 &t
S1.  Who propounded ‘Diamond Water Paradox’? =
- (a) Marshall (b) Adam smith
" (¢) Jevons (d) Hicks
dtor-urdt feduem & 3w faed &St A
(a) HIE® 3 (b) »3H AfvE 3
() =593 © () foaR3
52.  The firm’s short run marginal cost curve is increasing when g
(a) marginal product is increasing (b) marginal product is decreasing
(¢) total fixed cost is increasing (d) average fixed cost is decreasing
T T By T NS o9 <9 3U ot D
(@ iz G3uwe Fu fagr 3 (b) HHZ §3ue vz faor
(c) oI5 Afas 913 34 gt D (d) A3 Afas oaE U ot
53.  The slope of the total variable cost curve equals.
(a) average variable cost ' (b) marginal cost
¢) average cost d)  marginal physical product
é_agsuﬁeaamg. _wmaeaaéemaaféa% e
(@ A3 Ufseasarts sas (b) "3 T
(¢) MRS ®QE . - (@) A3 3f3q B3y
Paper-11 (Economics) 11 :



55.

57.

58.

In perfect competition, a firm maximizes profits on the long run by deciding

(a) What price to be charge (b) How much capital to use :
(¢) How much input to invest (d) None of these ' RENETS
Wmﬁa%ammwmﬁgm%m%awmaaﬁ% i
(a) o3 BRI () A Yeit & ytiar x95" 3

© £ wrars @ f5em o9a 3 @) feost &9 oL adt

The AR curve and industry demand curve are same

(a) in case of monopoly (b) in case of oligopoly
(c) in case of duopoly (d) in case of perfect competition
AR 5@ w3 Sedd a1l FI9 AHS T8

(@) earfoers <o (b) nEufuad €9

(c) enifoarg <9 (@) Y3 yaEs 98

In case of complimentary goods, cross elasticity of demand will be
(a) Negative (b) Zero

(c) Unitary (d) Infinite

YT AT B Vi & it B9 gt

@@ foz=a ) fres

() fearst @ nd3

Income elasticity of demand will be zero when any given change in income brings

(@) less than proportionate change in its demanded.

(b) no change in demand at all.

(c) same proportionate change in demand.

(d) more than proportionate change in demand. :

ﬁmémm&ﬁaaﬁ%aﬂn%mféaéﬁéfuﬁea%ﬁw@?%

(@) for o ia f¥ nigurs &% uie ufd=93s

) o g &t ufeeess adt |

() * ¥t f¥ AN nigur3d ufdease

@ e s w8 e ufeedss

For a pair substitute goods, if there is a change in price of on commodity (X), then other

things remaining constant, the change in the quantity demanded of commodity Y is relation

to commodity X will be '

(a) in opposite direction. -

(b) no-change in demand of Y.

() change will be in the same direction. _

(d) cannot be determined. o :
eﬂgnﬁ%féaﬁ%w,ﬁaaxaﬂge?a‘mzﬁau%emﬁ?%,faaﬁw

ﬁw%maﬁz‘%xe@émeﬁﬁmﬂmﬁauﬁm@w: _

@ fods for e )

) Y & e 3t ufesess &t

(0 ufgeass A fomr 29 Jear

() foods a3 I3 AT A
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59.

61.

When income elasticity of demand is greater than unity, then the commodity is
(@) A luxury commodity (®) A non-related good

(¢) A necessity . (d) An inferior good
a@ﬁaﬁmﬁa%&rﬂ?#u%s*eng: '
(@) o femmzreng d b) A Adueng ¥
(© feawgas?d @) R udnr erg 3

Demand curve of a normal commodity falls downward because

L Real income of consumer increases.

I Consumer substitutes dearer commodity with cheap commodity.

IMIl. Lawof diminishing marginal utility operates.

IV. 1tis easy to use downward sloping demand curve for analysis and prediction.
Which of the statement given above the correct 2

(@ LILIV () LIV
(© LI ' (d) All of the abov
FO95 <R3 ¥ Haress st ¥ fiaet 3, fagfy -

L 8uSesr & i ninmes oot |

IL @uéwnﬁaﬂeng?meng-mq&mmawa

M. ule=t FitHfs QuiiarsT & fsont s Jer 3 | =
Iv. ﬁn@zmﬁn@mm@aaﬁwe&mﬁmm?qﬁmma
(8 LILIV ) LIV

© LIiLm (d) GuSaz A

The main purpose of proposing HD1 was: _

A.  To assess the economic growth with main focus on per capita income and human
capital, _. |

B. To emphasize that people and their capabilities should be the ultimate criteria for

- assessing the development of a country. o ,

C.  To differentiate between the development perspective regarding national policy of
particular country.

(@) Both A and B are correct | (b) Both B and C are correct -
(c) Only B is correct (d) All of the above
HDI & 377 o195 = ifw 021 1t o

A. qﬁ—&»ﬁﬁmmﬂg&?gﬁ@g&éﬁmmﬁa’ﬂ?mm
B. ?@?mﬁﬁa%%ﬁmvmmw%b@@#wm%
C. ﬁaﬁﬁn%ﬁ-ﬁﬁéf%ﬁﬁuﬁa&mﬁaﬂéﬁﬁa&aﬁﬁm

(8) W AMBARTS (b) € B3 C At 35 | |

() fheBARRD (@ Gudas A

Paper-1I1 (Economics) 13 ' A

-



62.

63.

Match the List T against List 11 and select the correct codes given below:

List I ~ ListI N
A. Vicious Circle of Poverty 1.  Raul Prebisch , ﬂ.
B. Saving Function 2.  Nurkse .-)é
C. Development and Underdevelopment 3. Kalecki
D. Dependency Theofy ' 4.  Robort Harrison Frank
(a) A-1,B4,C-1,D-3 () A-2,B-3,C-1,D-4
(c) A-2,B-3,C4,D-1 (d A-4,B-2,C-3,D-
gﬁlvaﬁnmﬁmaam%aar%%wﬁéﬂﬁas
el o get 1l
A I o duad 1. I8=efm
B. HU3 356 2. &IAA
c. fom vi3 nid feam | 3. Qfsel
D, fsoges faus 4 EIe JGHB ]
(a) A-1,B-4,C-1,D3 () A-2,B-3,C-1,D4
(c) A-2,B-3,C-4,D-1 ~ (d) A-4,B-2,C-3,D-1
Match the List I against List IT and select the correct codes given below:
List I , List I1
A. Indicative Planning 1. Planning by direction
B. Totalitarian Planning 2. Planning by inducement
C. Decentralised Planning 3.  Planning from gross roots
D. Democratic Planning 4. Planning by flexibility
(a) A-4,B-1,C-3,D-2 () A-2,B-1,C-3,D-4
(¢ A-2,B-1,C4,D3 (d) A-4,B-3,C-2,D-1
nﬁlwﬂﬁllmﬁmaam%a@ﬁ%a@&amﬁaa
get 1 gor I
A. A3 Gaede! 1. fomr gora GristEel
B, mftXefes trsrEet 2. Q& enrdr GAarEet
c. fexedifes trarae 3. TGAUES 3 BAeEel
D. #I33 wEsEet 4, SO O GREEel
(@ A-4,B-1,C3,D2 () A-2,B:1,C3,D4
(c) A-2,B-1,C-4,D-3 @ A-4,B-3,C-2,D-1
How much of land area in Punjab is recorded under forests ?
(8 6.07 (b) 8.5
© 100 @ 154
s 9 fier @t B9 Aawt nifts faerds dtst famr 3
(a) 6.07 | () 8.5
(¢ 100 (@ 154
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65. According to 2011 Census, which district of Punjab has got the highest literacy rate

(a) Ludhiana (b) SAS Nagar

(¢) Hoshiarpur (d) Jalandhar

2011 FagEesT WigRTS Urre @ fixos i & Amvgsr w9 Qosn )
(a) Sftmrs (b) 7. 2. %A, z99
© dimrays @ g

66. According to the All-India Debt and Investment Survey and NSSO, non-institutional
sources still provide finance to how much percentage of rural population of Punjab ?
(a 219 (b) 29.7
(c) 36.8 (d) 306
Hae@aérfasw@ﬁ‘énm%uzn@ﬁaﬁéwa, aamnﬂa@aaérwaér

(& 21.9 ' (b) 297
(c) 36.8 | (d 306

67. Priority sector lending by banks include which of the following sectors ?
1. Agriculture 2. Education.
3. Micro and small Enterprises 4.  Housing
(@ 1,2,3and4 (b) 1,2and3 only
(¢} 1,3 and 4 only (d) 2,3 and4only :
1. ustadt 2. fHfanr :
3. puH w3 E2 Qe 4.  nEH _
(@ 1,2,3m34 b fez1,2n33
(© FE1,3n34 (d free2,3n34

68. For an under developed country: ' _
A.  There is a high degree of correlation between the level of income and the rate of
population growth,
B. There is low propensity to direct additional per capita income to increase per capita
~ investment.
C.  There is scarcity of uncultivated land,
D.  There are different production methods and absence of technological development.
Given above statements choose correct answer below:

(@ A, Band C are correct (b) B, Cand D are correct
(¢} A, CandD are correct (d) All of the above
e nisu feafhs 37 et

A Wémwmﬁmmm%m%ﬁé‘u@%
B. mwwﬁmﬁwfﬁqﬁﬁmﬁﬁéﬂéqkﬁnﬁz%

C. -ut ot & gegss S

D. %ﬁa@mﬁ@ﬂaﬁmmﬁaﬂe}bﬁ?ﬁ

Qs I3 T fod 35t Mt G339 F 5= =
(@ ABwW3ICHRTS (b) B,C,»3 D AR 57
(€} A,C,mM3DrARFTs d) Susaz Ay
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70.

n.

72.

73.

74.

In Indifference Curves Approach, The consumer is in equilibrium when

(8) MRS,y =PJPy (b) MRSy, =PJ/Py |
(c) MRS,y =P/P (d) Any of the above ~
Gurrits 2o ug 29, s Agws g der I me - s
(8) MRS,y =Py/Py (b) MRSy =PyPy

() MRS,y =Py/Py @ Gussadd

When total productivity of a function is maximum then
(a) Marginal productivity is increasing

(b) Marginal productivity is decreasing

() Marginal productivity is zero

(d) Marginal productivity is negative

T i = O o §3ureasT miteeH 3, fea

(a) Fihts 83ureasT ¥0 Tt 9 (b) s @3ureas ue IR I
(©) FHiz §suas fres 3 @) FHis GsureaaT feErsHa J
In Cobb-Douglas production function; elasticity of substitution is:

(a) Equal to Unity ®) >1

0 <1 _ (d) <Zero

STH-SIER GEUTs €55 39, YSiREUs &9 3

(a) feardl @ 5o=d ® >l

© <l @ <free

Shutdown point in perfect competition in short period occurs at

(@) Minimum point of SAC (b) Minimum point of SAVC

(¢) Minimum point of SATC (& Minimum point of AFC
Wmﬁ%wmﬁa%ﬁsaﬁg@zﬁﬁj@%

(@) SAC ¥ fs@a=H fag ‘3 (®) SAVC 2 faBz3 féig 3
() SATC ¥ fsgaan fig ‘3 @ AFC ? fslaan fig 3
Equilibrium of profit maximizing monopolist occurs where:

(a) ED>1 () ED<Il

(¢ ED=1 (d) ED <zero

=18 niftEH @6 T Serfaardt o H3®6 gz Jer J frid

(a) ED>1 : (b) ED<I1

(c) ED=1 (d) ED<fHee
Under Cournot’s Duopoly model; equilibrium output is (where n = number of firms):
(a) n/n+l b n/nt+2

(c) wn+3 (d) n/n+4
mémﬁmm,mmﬁ(ﬁﬁn=wﬂﬁfwﬁ) :
(a) wntl (b) n/n+2

(¢) n/nt3 _ (d) n/ntd
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75.

76.

77.

78.

79.

General equilibrium approach is given by :

 (a) Pareto (b)) Walras

(c) Leonteif (d) All of these
AU H3®s udd fodt ot /it
(a) IS ©AT (b) FTEIR AT
(c) foBsfeg gnmar (@) feast Arfonit gnirgr
There is no unique supply curve in this market; is the statement which refers to
(a) Perfect competition (b) Monopolistic competition

- (c) -Monopoly (d) Oligopoly '
fom wg o o fesue yadt <@ adt 9t 3; feg aes AEUS 9
(a) YI5 HAES &5 (b) Earfuerdt yfstfosT 5
(c) PFTUAS &S (@ reufaard &5
‘Pure Oligopoly’ is the'market where a few firms produce
(a) close substitute goods (b) differentiated products
(c) identical products (d) Any ofthese
‘gumma@’ea‘maﬁﬁéé\»ﬁmmaaéwaa
(@ foze yfsmas enf () {35 =gt
() f&a frdtort Tmgnft @ feos fESad
The point of maximum social welfare on the grand Utility Possibility Frontier is called:
(a) Shut down point (b) Break-even point '
(c)  Point of inflexion (d) Bliss point
%a@ﬁwﬁaewﬁﬂm@%»@asnwaﬁwzaﬁgm@?% :
@ deTwfig ) FAzws fiy
(¢ fesadt fig @ fenrefEg
Veluntary Exchange Benefit Approach was given by
(a) Samuelson (b) Bowen
(c) FErik Lindahl ' (d J1.8.Mill
foge weteT &3 ugu fedt ot At

(a) AfiGoRs T | (b) S PAT
() "Iz Bsos e (@) AR, HS T
Vertical Equity means

(a) Persons in similar circumstances should be treated similarly.
(b) Persons in dis-similar circumstances should be treated dis-similarly.
(c) Both of these

(a) m@umﬁﬁwmm@uﬁmﬁ@w%
®) m@umﬁaﬁﬁwmﬁﬁwwma
(© feo== "
@) fegst fo9 &t &t
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81. The more inelastic the supply of taxed goods, is the incidence on buyers.
(@) greater (b) smaller
(c) zero (d) whole
&I nidis erg € wiite 8%vere o, wieasi 83 grg
(a) wnifag (b) uie
s () faew @
82. Regulation of consumer’s credit as an instrument of credit control was first tried in
' (a) USA (b) UK :
(c) France (d) India
w%ﬁaaz%ﬁaﬁeeﬁr%wéwvmuﬁwﬁmnﬁwﬁ :
(a)  vidter b Ta.
(¢) QA | (d 393
83. Charles Tibeout in his model observed that many types of public goods are
: (@) Local (b) Pure
(c) Club (d) None of these -
mzﬁa@z%@@mﬁaﬁaﬁumaﬁwﬁ%mﬁaﬁmﬁ%w%m
(a) G - () H
(c) TS d) feoxt fed agt &t
84. Wagner’s “law of ever increasing state activity” was given by Adolph Wagner in
(a) 1850 (b) 1983
(c) 1883 - (d) 1838
%amw“w%tﬁm%ﬁﬁaaera@ﬁmn”n@“m%ammﬁ?ﬁwﬁ
(a) 1850 f&g | by 1983 fFg :
(c) 1883 f3g (d 1838 &g
85. ‘Full Employment’ is a situation characterized by absence of
(a) - Voluntary unemployment (b) Involuntary unemployment
(¢) Unemployment (d) Seasonal unemployment
YT 9rars fer & wizd'e v warret et mast O
(2) fe agmarst (b) riEfees Fgmardt
(c) Egwarat (d Hrt Bgearat
86. ‘Real wage’ can be defined as
(a) Money wage/general price level
(b) Money wage minus general price level
(c) Money wage at the base year
(d) Money wage inflation
“WiFS HAEST'E ufass o3 7 meer B -
(a) Hefea HAgd/avs Uug
(b) ¥efea HAgdt we@ Foes sty
() g A ‘3 Hefod HAgdt
(@) Pl Haget oo FetE
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87. Various versions of ‘“Quantity Theory of Money’ try to examine
(a) Quantity of money and general level of prices
(b) Quantum of money in Circulation
(c) Inflation in the Economy
(d) Money and Bond Market
yaar 2 ufarre fois’ éﬁ%ﬁmﬁ%f&nﬁﬁaﬁﬁméﬁﬁ:
(@) KT e UfHE w3 StHst & AUTSs TS ‘
(b) I%c fZ9 Hear o H3T
(c) ~wige feerer &g HEgTFRISt
(d) HST ni3 d3 &9
88. Money multiplier depends upon

(@ Reserve-deposit ratio (b) Currency-deposit ratio
(c) Monetary base : (d) All of the above
HeTr I 6939 Fger J
(@) FIT-Ff MR (b) FIH-mY MEUS
(¢) ¥efdd nus _ (@ BudezAd

89. In Keynesian demand for money model, ‘Bulls’ are speculators that expect
(a Bond price to ‘fall’ (b) Bond price to ‘rise’
(c) Moves out of bonds to cash _(d) none of the above
m%mﬁmm%‘%’ﬁmmqwaﬂ%m: -
() = W3t Y weE & (b) iz A T U A
(c) =3 3IHIHMET TS (@) Budes It &t

90. In Keynesian approach, demand for money is an
(a) increasing function of income only.
(b) increasing function of income and decreasing function of rate of interest.
(c) increasing function of rate of interest and decreasing function of income.
d) increasin Ufunction of income and rate of interest. '
é?u‘rﬂw uds 129, e < Ha .
(a) »mEs T T T0eT S5 I
(b) mwwmﬁméw?ﬂwm%
© %wéeae*éu@amn@mﬂaeruh?‘ma
(@) niEs n3 ferrA W T I B I
91. Absolute income hypothesis predicts

(a) decline in the marginal propensity to consume when families move to higher income

level. _

(b) . increase in avera‘ge: propensity to consume when families move to higher income

level.

(¢) decline in average propensity to consume when families move to higher income

level.

(d) increase in the marginal propensity to consume when families move to higher

income level.
f55% nmes TAOTS YIe YRS STe J '
@ ﬁu&@a@amm%uﬁ@aﬁ?ﬁﬁa@t@mq&aﬁﬁqaﬁ
(b) ﬂ%uﬁw%mmﬁw@aﬁwﬁﬂswmﬁf@gw
() ﬂ%ufa@agemeaﬁua‘?fuja%aﬁ?ﬁma@uémqﬁaﬁﬁamﬁ
(d) ﬂ%uﬁ@ﬁ@‘amﬁuﬁ%u@%aﬁ?ﬁm’agﬁmq&aﬂﬁaw
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92. ‘Imitative’ and ‘Emulative’ nature of consumption is associated with .
(@ Absolute income hypothesis (b) Relative income hypothesis
(c)  Permanent income hypothesis (d) None of the above

war & ‘g8 w3 ¢ 35 & yfeast Aguz 3

(2) fou® nies il 5 ®) N v fiots B
() FuEt ninves AT &% () Sz I &t
93. According to Kaldor’s Business cycle, investment is directly related to
(a) Income (b) Rate of interest
{(¢) _ Stock of capital (d) None of the above
IBIT 2 U T nigAS 53 T Y3 g I - |
() "R & - () fenmHowam
(©) Yt 2 A 7% (d) Gudaz Tt s
94. The book titled ‘A Contribution to the Theory of Trade Cycles’ published in 1950 is
written by
(a) Hicks (b) Samuelson
(c) Kaldor (d) Schumpeter
“A Contribution to the Theory of Trade Cycles’, 1950 gy ot YRI5t aret it
(2) foem enrar | - (b AfiCors oo
- (¢) TS g (d) Hitza gnmor
95. The Monetary policy will be ineffective with the increase in money supply, when
(a) IS curve is horizontal (b) IS curve is vertical
(¢) LM is vertical (d) none of above
ﬂ?ﬁaﬁ?ﬂyaaréfyas‘kﬁ‘aefﬁmmqa‘emﬁéaﬂ, e
(a) IS TS BT Y (b) IS TII uFA Y
(© LMuzRt?d (d) Gudas dst st

96. LM curve is steep when _
(a) Interest elasticity of money demand is low
(b) Interest elasticity of money demand is high
(¢) Income tax increases
(d) Income tax decreases

LM 299 & ee fhdt it 3 |
(@) HeTHI S fmsmaued (@) e Ha &t fnma so €9 D
(c) »mes a9 Suer (d) »HES a9 ueer Y

97. Factors that shift the IS curve to the right are
(a) decrease in taxes and government spending
(b) increase in taxes and govt. spending
(¢) incresse in govt. spending and decrease in tax
(d) decrease in govt. spending and increase in taxes
a9 fra3 13 1S 9 § Y U Ua T -
(a) I M3 ATT 2 y9o feg =t
(b) &G 3 AIIT ¥ yag g e
(c) FIEW ¢ ¥9d 9 o w3 a9t f¥g ot

- (d) FAIIT € yow Y it i3 39t f¥g er
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98.

100.

101.

102.

Multiplier will be lower with

(a) . High MPC 4 (b) LowMPCc .
(¢) HighMPI (d LowMPS

= ule gar

(@ SIMPC&® (b) uig MPCc 5

(c) SIMPI&® - (d) e MPS &5

Expansionary Fiscal policy will be more effective on income when given the IS schedule:
(a) LM schedule is relatively flat (b) LM schedule is relatively steep

() LM curveis vertical (d) None of the above

fenfys It A1t pines €3 <0 ygerw! et 7T IS Bl ¥ HaEs
(3 LM FOt IB3HI AHSS J (b) LM Fot 35530 fdt 9
() LM Foguz=t 3 : (d) Sudez JEt &I

The establishment of GATT resulted in: _

(a) Increased tariff mates (b) Decreased in total world trade
(c) Increased protectionism (d) Lower tariff rates

GATT =t Rarus e a3tnr faafenr At

(a) Uit 2fag =at T b) o fere Tus R b

(¢) =fonr Sfemrere ‘ @ ue?fmest

Who has been appointed the first vice chairman of the newly created NitiAayog:
(a) Kaushik Basu (b) Arvind Panagariya

(c) Abhijit Banerjee _ (d) Bibek Debroy
ﬁ@ﬁﬁmﬁmwuﬁw@-mmﬁmﬁwa :

(a) SfFx 9/ (b) »EfEE wardhr

(c) sz sl (@) foda YEdw

According to C.S.0O estimates of National Product, Secondary Sector include which of the
following sub-sectors:

(a) Manufacturing Sector

() Manufacturing + Construction

(¢) Manufacturing + Construction +Electricity + Gas and Water Supply

(d) Manufacturing + Mining : :

IHeS §3ue ¥ C.8.0. nEHS MgH'S, Ji= 939 9 o+ fufrt fog foaor Qu-u39
s der 9 , B .

(a) foan= B3d

(b) foanz + GATE

© 5o + Gadt + famedt + 3 n3 7 Yot

@) foars + HEED
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103. Demographic Dividend in India is defined as:
(a) All Adult Population
(b) Population excluding old people .
(c) Population excluding children and old people _ : _(
(d) Population which excludes unemployed persons -
393 9 7% vid3 fegms § ufgsis o ey 3
(a) At T AGHT '
(b) T BT § o€ T AEHT
© ﬁmﬁwﬁnﬁ%ﬁﬁwn@wﬁwga@mﬁw
(@) ot fan RS Sgware xt § dfenr wier 3
104. Development expenditure of the Central Government does not include
(a) Defence Expenditure ‘ '
(b) Expenditure on public services
(¢) Expenditure on social and community services
(d) Grant to States
IeT AT'S 2 feam wafonrt ¥ il adt Jer
(a) HIftmr yog (b) T&SF A= ‘3 ugg
(©) A NS FETOR Aet ‘I uag (d) - IH § et

105. Gross domestic capital formation is defined as
(a) Flow of expenditure devoted to increase or maintaining of capital stock
(b) Expenditure increased on physical assets only
{(c) Production exceeding demand
(d) Net addition to stock after deprecation
IS udG Uit Tz § ufssms oitgr e
@ Qﬁméw@z»@wﬁmmwm?m
) frae 3f3a Auding °3 efimr wog
(¢) ¥ar 3 =g 83ures
(d) HBwe 3 mnE Aew &9 i o

106. Our financial system has provided for the transfer of resources from the centre to the
states; the important means of resource transfer are:

(@) Tax sharing (b) Grants-in-aids
(c) Loans (d) All of these
Hﬁﬁéf@@ﬁ%ﬁ?ﬁé&ﬁﬁ%ﬁéﬂ@ﬂ%ﬁi%ﬁ&ﬁﬂ@
HISYTS AUS T
(& ITWIIE (b) qrer
(¢ fo= (d) fegma
107. Which of the following is not viewed as a National debt ?
(a) Provident Fund (b) Life Insurance Policy
(c) National Saving certificates (d) Long-term Government Bonds
Ia+ fifont fed form 3 amedt foz @ 39 3 50t 2o s
(2 y&3eEs (b) +ies Ty
(© TIHIS 53 Yoz U9 (@) <ow IH AIESt gz
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108; If an economy is in equilibrium at the point where plan to save and to invest are equal; then
government expenditure must be: '

(a) Zero | (b) Equal to government income

(¢) Larger than government income (d) Negative
ﬁaa%anmaﬁm@mﬁg‘%ﬁgm%a%ﬁﬁaasn@mﬁﬁﬂwwa& Ey
At 599 Agd 98 T J

(a) TH=d (b) FIXG nHES € BIET

(c) FIA WIHES &% U (@) fez3Ha

109. Devaluation of currency will be more beneficial if
(a) Prices of domestic goods remain constant
(b) Prices of exports remain constant
(c) Prices of imporis remain constant
(d) Prices of exports rise proportionately
HeT @ nREE TrfEerE Jar fee:
(a) wIB =AST Eit 3T AT Gt 75
(b) fogwr3t Emit st Afg IfdEmr 76
() w3t St st Aft SfET I6
(@) fsamrst St St niEurss FoEint 36
110. Fiscal deficit in the Union budget means :
(@) The difference between current expenditure and current revenues.
(b) Net increase in Union government’s borrowings from the RBI
(¢ The sum of budgetary deficit and net increase in internal & external borrowings.
(@ The sum of monetised deficit and the budgetary deficit.
e fog fedt we @ nige 3
() TG HIT M3 TH MHES f&g nize
(b) o Agag T RBI a8 Gue fg guer .
©) aazu@n@m"egﬁn@wa’?@u@ﬁaa’ue@@ﬁs
@ ue ure w3 Vefeq w2 ¥ w3

111. Assertion (A): Agriculture is no longer the gamble of the monsoons.
Reason (R) : There is recent expansion of dry farming in India
(a) Both (A)and (R) are true and (R) is the correct explanation of (A)
(b) Both (A) and (R) are true, but (R) is not the correct explanation of (A)
(¢) (A)is true, but (R) is false '
(d) (A)is false, but (R) is true
a5 (A) Sgte=t g8 Hogs o gor &4 It
a6 (R) ¢ g3 f¥g nive® yRs 25t o femee 9
@) ¥ (A)"3 (R) 3R T M3 (R), (A) ot Ft fenrfemr 3
(b) =] (A)»3 (R)a‘\aasm?(k),(mérnﬁﬁmﬁww‘a
© AITIWER I
@) (A) I3 Y, UT (R) 3K 9
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112. The Economic cost of food grains to FCI include the following :

113.

114.

115.

1. MSP including central bonus 2. Procurement incidentals
3.  Cost of distribution 4.  Food grain losses

(@) 1,2and3 (b) 1,2and4

(© 1,2,3&4 (@ 2,3&4o0nly

FCl § wa-nizwt & wisfaa w3 &9 3o X wrivs o5

1. oSt 550 &% MSP y B (G ERITE)

3. EwFdtsus 4. HEH T FITE

(@ 1,2n33 ®) 1,2n34

() 1,2,3m34 d) <deBm2,3034

India’s ‘Green Actions’ does not include

(a) Cutin subsidies - (b) Increased taxes on fossil fuels
(¢)  Increase in petrol and diesel prices (d) De-urbanising the economy
I35 ¥ ‘Green Actions’ &9 A st 32

(a) RIREY fow It b) ussegEmT @I a9

) Ren3shmwehsiffesw (d) wosfeers o do-nisdass

Statistics is defined as the aggregate of facts affected by
(a) One particular cause (b) Two causes only

- () Multiplicity of causes (d) Not affected at all
Aifemicll &’ Enrer ygres SuF ¥ 77 @ 39 3 ufosms s famr 3
(@) Bz feRmaas ®b) free e aas
(c) ¥ AT I (@) fEEs s At Y
Statistics is '
(a) Anartonly (b) Art and Science
(c) Science only (d) neither Art nor Science
Aifemett _
(a) T awr (®) & w3 fefomrs
(o froz fefamrs () &I R fefamrs

116.

is a suitable method of collecting data in cases where the informants are literate
and spread over a vast area.
(a) Mailed Questionnaire Method

(b) Direct Personal Interview Method

(¢) Indirect Oral Interview Method
(d) Information Received through Local Agencies

() 37 T 3+ et yrepst fedt

) Y3 fenirRaz A= fedt

(© Y ¥ife AdERerg fedt

(d) FEBX BHAt It Yy ArEerat
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117.

Assume that you employ the following data while conducting a statistical investigation:- -
i, Estimate of personal income taken from RBI bulletin

ii.  Financial data of Indian Companies taken from the annual reports of Ministry of Law
and Company Affairs.

. iii. Tabulation from schedules used in interviews that you yourself conducted.

118.

119,

120.

"jv. Data collected by National Sample Survey.

Which of the above is Primary data :
(a) Onlyi (b) . Only iii
(c) iiandiii (d) i,iiand iii

ms@ﬁawﬁmﬁfmmmaﬁ%f@wﬁwawa@a
i RBI 53(25 3 &2 91 fonadies niHes & nighs

. mn@auﬁnmﬁw%mﬁeﬂwmﬁuaaﬁaséarémmé
Wi

ii. fezafe@ﬁas”raﬁmmnmﬁsaﬂéfﬁ} g =gt St For &8 ArIdtaas

amza”r Fums Fe2 oy a3 i3 o ma%
(a) frogi ) fAsg iii
(¢} i3 iii , @) i,ii w3 il
Which of the following is/are the basis (bases) of classification of data?
i.  Geographical ii. Chronological
iii. Qualitative iv.  Quantitative
(@ i&ii ' : ®) i&iv
(¢) 1i,ii,ili&iv (d) i,ii&iv
St fafant 45 fxazr niafani ¥ Toeites & nT J 7
i, safed . i, oeFHA
iii, JEIHL - iv. JEESHA
(@) imii - (b) iim3iv
(© i ii,iiinSiv: - @ i iinSiv
Row heading in a table is called
(a) Caption (b) Stub
(c) Table Number : (d). Title
fom Fraat 29 a3 © Hiong a8 e & .
(a) IBE (b) HE
(c) A3 At (@) fradu
According to Sturge s’ rule, the number of classes k is given by
(a) 1+3.322logiN (b) 3+3.223 logiN.
()  10+3.22logN (@ 10+0.322logN
Sturge 2 fs0H WEFT, k At & foret R A D
(a) 1+3.322logN - ®) 3+3.223logN
(© 10+322logiN - (d) 10+0.322logN
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121.

122.

123.

124,

125.

126.

127,

The magnitude of class (i) is given by ‘ -

(a) Upper Limit + Lower Limit/2 (b) Upper Limit - Lower Limit/2 .
¢)  Upper Limit ~ Lower Limit (d) Upper Limit + Lower Limit b
2T VST T wied fogr mter 3 -

(a) Buss A + IS Hhay2 () Susd A - I5H A2

() BuTs A - JaF Fhe (d) BuzsE A + J5Et Fhr |

The algebraic sum of deviations of a given set of observations from their arithmetic mean is

(a) Always Positive (b) Zero

(c) Maximum (d) Minimum

GaThiit 2 I3 a2 fex e Qust @ Wi T o2 o fogms T afsR a3 Y

(@) THE" O&3HA ®) fhes - f

(c) niftezy (@ faGu3m

The formula for calculating probable error for coefficient of correlation is

(@ t—*Ahn ' () 0.6745(1 ©)An

(c) 0.6475(1 /*)An (d (1 -)n-1

RigAYT @ gia B2t Azves 392t o a=a &t SIS J

(@ 1-rAn (®) 0.6745(1 —r*)Nn

(¢) 0.6475(1 -)Nn | (d (1-rHAn-1
Standard Deviation is always mean deviation.

(2)  Greater than or equal to (b) Lessthan

(c) Equalto (d) Less than or equal to
yHY fegms aim o feods @ — _ g=3

(a) wifax A g9vsg (b) ufe

(c) =IHT (d) ue A g9ug
Relationship between Q;, Q,, Q3' and Md is given by '

(a; QISQ2=M3583 _ (g) Q1 2Q:=Md< Qs
(© Q=sQ=Md2 (d Q+Q:sQ=Md
Qi Q. Qs 713 Md feoams A fogr mrar 3

(@ QsQ:=Md=sQ; ' () Q2Q=Md<Q;
© QsQ=Md2Q, @ Q+Q:<Q=Md
The empirical relationship between mean, median and mode for a moderately

asymmetrical distribution is given by

(a) 3 Mean - 2 Median - (b) 3 Median + 2 Mean
(¢) 3 Median -2 Mean (d) 3 Median - 2 Mean/2
fewt vtr® nimH T Bt Wans, Hitmiar »3 sgee o ySaIit Hea fer R 3 T
(@) 3 HoHs - 2 Wftar (d) 3 Hftmar + 2 HoHs
(¢) 3 Hitmar - 2 Wons @) 3 Hftemr - 2 ¥/
If the coefficient of quartile deviation is 0.6 and Q.D.= 15; then Q; & Qs are.
(a) 10 and 40 respectively (b) 40 and 10 respectively
(¢) 50 and 30 respectively (d) 20 and 60 respectively
‘ U398 feums © 33K.0.6 2, QD.=15f@9 Q,, 3. Q, 75
(8) IIRTI0M3 40 (b) FHTT 40 m3 10
(©) TIHET 50 m3 30 (d) =T 20 3 60
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128. Coefficient of determination (%) is given by
(a) Total Variance/Explained Variance.
(b) Explained Variance/Total Variance
(c) Unexplained Variance/Total Variance _
(d) Explained Variance/Unexplained Variance

frauras © g () fd3r AT 9
(a) T fEa3/mine Ba3 (b) Fure Baz/ds ($a37
(c) nrRuRe fBaa/dw 9637 (d) mume azmimure ez

129. The consumer price index for a group of workers was % 250 in 1994 with 1980 as the base.
The purchasing power of a rupee in 1994 as compared to 1980 is
(a) ¥250 (b) 040
() %080 (@ %025
1994 &9 1980%%%&@@%%%&%@3@3@59%250@#
1994 f¥g xdfte HeEt 1980 T HES I

(a) T2.50 (b) 040
(©) 080 @) %025
130. Mean of 20 values is 45. If one of these values was wrongly taken as 64 instead of 46, then
corrected mean would be ' _
(a) 44.1 (b) .459
(© 421 ' (d 434

20 1t & WA 45 I &Wﬁéﬁagﬁﬁmﬁmméw64éwm| ani
A3 J=et S
(@) 441 (b)) 459

() 421 d) 434
131. Consider the function y = (x — 2)6(x' - 3)s _ Which of the following is correct in respéct of
this function

(@) There exists maxima at x = 2
(b) There exists minima atx = 2
(c) There exists maxima at x = 3
(d) There exists neither maxima nor minima at x =2
By =(x—-20-3) ﬁ@ﬁ%%é%ﬁ?wﬁmﬁﬁmﬂiﬂa
@ Nefmrx=2°33? o -
() x=23 fufer ger J
(c) hafmrx=3 ‘FJe I
(@) x=2 3 o Nafmr ger 3 & dt fufanr

132. For a function y = f(x); the condition for maxima to exist is

 (a) dy/dx’should be positive (b) d%y/dx* should be negative

(c) dy/d¥ should be zero (d) Value of d’y/dx” should be infinite.
B6 y = f{x) o, Nafr @ S AfEt 0
@ d&y/dd TEsHs IE T Y ) dydd fEwa IT g G|
© dyad free 3T g J @ dyidd T He nifeafos & gdrer ¥
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133.

134.

138,

136.

137,

138.

The slope of ACis givenby .,
(a) 1/9(AC-MCO) ®) 1/qMC-AC)

(© 1/q(AC+MC) (d q(AC-MC) .
- AC T T Bt ot D . "
(8) 1/q(AC-MC) (b) 1/q (MC-AC)
(c) 1qAC+MC) . (@ qAC-MC) |
If consumption ﬁmctlon is given by C =100+ 0.8Y. Then the value of multlpher will be
(a) 08 . ®) 100
() 5 d 125
ﬁm@wmﬁwﬁw%c-mwwmwma@w
(@ 08 (®) 100
(c) 5 d) 1.25
For the demand function X = 100 — 4p 2p>. The price elasticity of demand at p= S5is
(@ 1 (b) 0.007
(0) 0 | ' (d 4
Hal TB6 X =100 - 4p - 2p° & p = 5 3 sla1 & a3 g )
(@ 1 ' () 0.007
() 0 : @ 4
The standard dewatlon of natural numbers ItoSis
(@) 1414 () 2326
(c) 14.32 (d) 4.263
1 35 yfsefsa Hﬁdmrer o Yo feass 9
(@) 1414 (b) 2.326
(c) 14.32 (d) 4.263
In a normal distribution, arithmetic mean + Quartile deviation would cover
(8) 50 percent of the items (b) 80 percent of the items
(c) 68.27 percent of the items = (d) 57.51 percent of the wems
f¥a nures wveilags 9 1Tows + ogoEs fegme W3
(@ wetE 50 yIies (b) e = 80 ySiwz _
(© Heter68.27 eicc (@) weter 57.51 yIies
The value of correlation coefficient is termed to be highly significant if
(a) r151&ssthanPE(r) : () risgreaterthanPE(r)
(c) risless than 10P.E.(r) (d) ris much greater than 6P.E. (r)
RfgRET I & W w3 Foed far arer 3 g .
(@ r,PE(@)aFuzd ' (b) r,PE()a® Jg
(©) r, 10P.E(r) & ufz (d) r,6PE() &% g
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139.

140,

141.

The value of correlation coefficient ranges from

(a Otol (b) Otooo
c) -1tol (d) —ootow
g geia TS Jor |
(@ 0313 ®) 03 oI
© -1T13\ () 0TI
The ranks according to two attributes in a sample are given below
- Ri:12345
" Rx54321 '
The rank correlation between them is:-
(@ O (b) +1
© -1 (d) None of these
Rahmfedgesi el dst e con B AR
Ri:1 23 45
: Rz:54321
gawt feg vaT Rfardy 9
(a O ' () +l
© -l ‘ (@ fegot &8 at &t

If value of r is computed to be 0.8; it implies that
(a) 80 percent of the data are explained

(b) 80 percent of the data are unexplained

(c) 64 percent of the data are explained

gga 64 percent of the data are unexplained

r 2 115 ot Ea 0.8 3, formr nige
(a) 80 YSiH3 nig3 AURS T () 80 YSH3 nia3 MAURS I6
(©) 64 YEES nid3 AURZ 35 @) 64 YStHS W3 NAURT T6
142. Which of the following is correct in case of relationship between S.D and Range?
R B 3ot
c D.= e D.= e
RNt i R ot Fefant 99 o A §
(@) S.D.=1/6ferEa ®) S.D.=6ferEd
(c) S.D.={erEd (@ S.D.=3/2femE"
143. The samples A and B have the same standard deviations; but the mean of A is greater than
B. The coefficient of variation of A is
(a) Greater than that of B (b) Less than that of B
%EqualtoﬂmtofB (d) notdefined at all
t A nS B Ty feues NG Y 5 US A T oS B &S U 31 AT s g 3
(8 B&8 U : () BT U
(c) BRI (@ ufssms 53
144. Sum of deviations of the items from the is always zero.
(a) Median : (b) Mean
(c) Mode _ - (d) _ Geometric Mean
R 3 feamer o g onwr fge JeT 9
(a) HmEr | () Mo
() w @ dwafsh o |
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145, Which of the following are the objectives of the Comm1ss1ons for Agncultural Costs and
Prices (CACP)?

L
11

II.

To stabilized agricultural prices.

To ensure meaningful real income levels to the farmers. '

To protect the interest of the consumers by providing essentlal agricultural
commodities at reasonable rates through public distribution system.

IV. To ensure maximum price for the farmer.
(@ LILII : ® LILIV
(c) 11, III v d I, v

wﬁ@mﬁ@aﬁm@mwmﬁmm@)@@%ﬁmw

L
1I.

IIL.

Iv.

(@
(9

a3t SH3t 3 AfES 9

ﬁmaﬂmwmmsmm
mwwamaMﬂmm‘%&mma
Qusasret ¥ ozt ot Ihmr st

ATt B mftasH kst § weltdt sarsr
I IL III ) LILIV
IL IIL, IV d LIV

146. Which of the following were the aims behind the setting up of the World Trade
Organization (WTO)?

L
IL

II.
IV,

(@
(c)

Promotion of free trade and resource flow across countries.

Protection of intellectual property rights.

Managing trade between different countries.

Promotion of trade between the former East Bloc countries and the Western world.
LILIILIV ()  ILIE

LILIN - (d LI

ﬁmmm(wm)e?nmwméaar%%w%%m@%ﬂﬁr?

L
II.

I
Iv.

(a)
(©

mﬁmmmn@nﬂwwm

It us mfaarst < i

-¥ A feoxg QU o YU J95T
mmw%mnémﬁﬁﬂeﬁmmerm

LILIILIV ) ILII
LILII (d LI

147. Regional rural banks

L
IL
IIL

have limited area of operation
have free access to liberal refinance facilities from NABARD
are required to lend only to weaker sections

(@) LI ®) LILII
(¢ LI (d) onlyl
REEC RIES: I ~
L AfiEaendzed -
II. NABARD 33 8 Uaafds pfeaet 5 Y&t wjv 3
Il frde aidte 39 3 Qu iR U5
(@ I, () L1
c) LI _ (d) onlyl
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148.

149.

150.

Match the List I with List II and select the correct answer using the codes given below the
lists:
List I List II
A. NABARD 1. 1995-96
B. RIDF 2. 1982
C. RRB 3. 1998-99
D. Kisan Credit Cards 4. 1975
(8) A-4, B-1,C-2,D-3 (b) A-2,B-1,C-4,D-3
(¢©) A-3,B-4,C-1,D-2 (d) A-3,B-2,C-1,D4
Hﬁln@ﬂﬁll?ﬁmﬁmn@%ﬁ%a@ﬁmmﬂﬁ@%%
got I Ho I
A. NABARD 1. 1995-96
B. RIDF 2. 1982
C. RRB 3. 1998-99
' D. fams ofse aas 4, 1975
(8 A-4, B-1,C-2,D-3 (b) A-2,B-1,C4,D-3
(©) A-3,B-4,C-1,D-2 (d A-3,B-2,C-1,D-4

Which of the following committees has been set up in India for identification of below
poverty line (BPL) families in urban areas?

(a) Tendulkar committee

(b) Saxena committee

(¢) Lakdawala committee

(d) Hashim committee

mmmmwgwmamwmﬁgwwrﬁw
JNST gt et 9

() Fgwas s

(b) FIAS AN

(c) TIFEH FHST

(@) o IR

Arrange the chronological order of the launching of these schemes are
1.EAS 2.TRYSEM 3.JRY 4. RLEGP

(a) 24,13 b)) 4231

(c) 42,13 d 2431

fegst FelHt & fegat @ &g I @ AT wigA'e T &9
1.EAS 2.TRYSEM 3.JRY 4. RLEGP

(@ 24,13 ' ) 423,
(© 42,13 d 2431
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